88 3 INHIN: R00~<0

omrdfear: MCQ (15 X 1 = 15)

Short Syllabus

01. P ARG 4TS LI Bifere =i 27 DI 4T T AT | @ g YIRS A% s ARt Up !
9ie ifba vag 3 fRed a1 27, O Y Aifee *Ife Foud ?

()5 (b) 2 (©) 2U (d) 4U,
JAAYE: (¢); U = %%2 =1 rx% [Q constant] |
C =f—$=} C n’:% [A constant] -
2 U ncd:~%=3—:=>:;:=zi' =2 = U, =20,
02. qWHN AR I e walt TR Fold YFe @ty w @A @ CARIC 20z | Y S <t
i {7 Sesiy F9R?
(a) wg (b) 2meg © @
A (d); [ = 2 = 77 = o—
03. TIfome/® edliaa A F?
(a) MLT 1 (b) ML™1T~2 (c) MLT 2 (d) ML*T~2
TR (b); RfSgoR el Wia = Ao @3 el = {E]I =M = MLIT2
05. 27A1 + 4He — 397 + () R f[fFafore Seeifze ST =- [Ans: b]
(a) SeTeT <l (b) C2IB (c) BTG (d) TG
06. GF6 T MFCFT AEIIE 50% TS QT FIEFT CACra TS F0 7J?
(2) 25% (b) 100% (c) 125% (d) 67%
TAL: (¢); 2= =50% =05=T, =0.5Ty + Ty =1.5T; = 2 =15
Lz _ (Tz\* _ _ _
@R, Toc VL= 22 = ('ri) =(1.5)2 =225=1, = 2.25L,
= L;— Ly =125 Ly = 22 = 1,25 = 125%
07.  GRICAT W4 #NIETR SIATIAT (oS (LT 4 el i CoITeT O SYSTER T 1% 39791 0 el e oif?
1
(a) 4 (b) > (c) 2 (d) 1
A (¢); ¢ = E’%:» cyT[R,M constant] =>:_—T=E= -‘%‘-= Vi=2 = Cy = 2C4
08. 14 TG 1t oG comfiErn Glwm - we w8 it 1 «F iy 2Ta-

(a) < min (b) = min (c) 5 min (d) 22 min

. 1, N o
AAIYH: (E);l:;ln Nﬂ s ;ln 16=-::.4,1n2 =_§]n2 min~t & T Itz  In2

ELN [/ -/




o 8 FATHIA: 00—

10. a@INAFO LA A = 2] + 2] — k 9 B = ai + | cObaw7 *f7=>a =79 TI?
(a) 0 (b) = (c) —1 (d) 2
TYA: (c); I T YE OIS @ 0ZA1 AB=0=2a+24+0=0=2=—1
11, F© Q@0 5o OI[6 Fpiod sifoRer cndy a7 et credyq sds g2

@3¢ OF BENCEY. @2
v . L vZ 1
TR O;L=L 1-G==1"a=3
=>1_§=i-=>—1—1—-1—=3=>l;=§=>v=§c
12. @3 m o T AR 9F O v QT 5917 g O35 Fele-a1 0 it et Pl Ao w99
K09 -9 k e P2 Fope 7egibe 73?7
(a) \Ev (b) \Ev (c) Vkv (d) vmv

FAH: (a); T8 IT® A& = Feik W3 FATvE A7ivs Reifs

1 2 1 2 m
=-mv-=-Kx*"=2>x=v |—
2 2 A ﬂ‘k

13. ST gt g I RS 4 2o szt h U7 @R @HB? [Ans: d]
@) l/ (b) g ©) gl/ De \J
g :
h h h h

A (d); g’ = g(l-—%) [g' T %8 (A0S h TSIl wiad gad]
=g = —EE+§ 4o 9o STFea Mo <61, 9 ol AdtgE

E m X ¢
14. 23 @3 75161 o[rmeem foaaems T4l Ay T d 93 o7ey (3 *Wit D ey srfgs | “wiw Bom afS aoe
2TZ (TR AT 2o
(a) = (b) = ©) o= @)
TAGEA: (b); Ax === . <5 2Ig (ORI AL = — =

Ax AD

15. @3> 3Z 12m aﬂﬁnﬂa AT JOIPH 2T TN SR | GF{E JZ0S JBIFIF AN 97 TS 6ms—! €3 @ff 4ms2
0 3 AAMCz 1 @ 206 IO GIAT T F9?
(a) 2 ms™? (b) 3 ms™? (c) 4 ms2 (d) 5 ms™2
TAA: (d); FEIR G, ac = = = &

=4F1 §ad, ap = 4ms™2 - (0 G, a = /a2 + a% = 5ms~2

ms~—2 = 3ms—2

04. W &G FaIFace Taer @ ayaea w9 T ? [Ans: b]
(a) 14 2 (b) 4 72 (c) BIeTe (d) REw 4R

09. I e Al ©fEsrer ater sgaefa afaer M 10 volt | SfEw T It A 2g=1-
(a) 10.00 volt (b) 5.00 volt (c) 1.41 volt (d) 14.14 volt

STAY: (d); Erms = 2 = Eo = (10vZ) = 14.14V

P, | ¢ [ —————




-y

s MCQ (15 X 1 = 15)

Short Syllabus

01. T¥om e OH™ QI HY UF ETR Tl G ST TO7
(a) 7 (b) 10~7 (c) 0 (d) 1
TA: (d); From #1fATe [0H~] = 1077M; [H*] = 1077M < Sppife = 20 = 1
02. BT RNAY GF SR (L7

(a) BeCl, (b) PCls () BCl, (d) Cl,
ST (b); STSre 9B P O3 3N TF 10 e~ < 3d SRS Aty =i2s TR 909 ||
3
*P(-[s)_ E;’S 1 I:,: 1] [1 e I BE‘GB-Q?IEIWG?I
03. TAtba (I oibaEia gue e fe@s e FwE F97? [Ans: c]
(a) H*(aq) /H.(g).Pt  (b) Cu*(aq)/Cu(s)  (c) Na*(aq)/Na(s) (d) Pt(s)/F(g)/F~(aq)
05. W4T A @HiL? [Ans: c]
(2) FTEBT (b) Ffre ) FhE (d) FmBTeTeTgfare
06. THT6R &IF @I e weldt <19t mx?
(a) AT (b) &f* (c) & (d) &I

FAY: (d); AT AT e woio 19t o |

CH3CH,CHO + [Ag(NH3),]OH — CH;CH,COONH, + Ag | +H,0 + NH;
07. (AW I AFTIN! TS (I ?

(a) —NH, (b) —NO, (c) — CHO (d) —SOzH

TR (2); SCL-ATTET OIS 20 @it o STRerer &Fo | FRe N @3 SfdR, Felierst > H 7 SR gt
08. NaCl €3 A H,0 @S T (i3 957

(a) Na*(aq) + CI™ (aq) (b) NaOH(aq) + HCl(aq)

(c) OH™ (aq) + Cl~(aq) (d) Na* 4 CI™

FAEA: (2); NaCl g fee e H,0 st s7yfmeet Renfere 2.

NaCl+ H;0 — Na*(aq) + Cl~(aq)

09. ZROGIAN S (@ (&FIH I —ATA?
(2) SEF 8 G 59 (b) SRfF @ AR T3
(c) AT & A= TF (d) SRS @ Y3rGITST 759
AL (¢);

ot

H\jH

10. ﬁm@mﬁ“w—m‘?
(a) K, =1 X 10~ (b) pK,, = 14 (c) [H30*][OH" ] =Ky, (D) Ky =1 X 10~M
TMLA: (d); Ky = [H30*][0H™] = 1 x 10~ (qa{Z27)
pKyw = —logKy, = —log 10714 = 14
12.  As-9q S0 Q@G K0ERGH HTZ?
(a)3 (b) 4 (¢) 5 (d) 6
TAHI: (c); As 93 TTRG {37197 = [Ar] 3d1%4s24p?® - QO 2ERG = 5 8

A | o [




/’-/ / oY 3 FHINN: 0I0-D

13. oIz YEigred E, S [isam, sneceizisied KOH/NaOH O SN Zi=T- [Ans: a]
Ol (b) TR= (c) SIRGF (d) Fefrewiza

14. Ry e @39 2, FR@ICEA “d I9ifce e Fifaees w0 <Ry To e e s [RERe @?
() 2Ry (b) =Ry (6) =Ry (d) — Ry

FATY: (b); 91E FAl<ce ), 9% A ANy e n, =ny + 1 =24+ 1 = 3

1 1 1Y 1 1 SRy
H_RH(ZE 32)_RH(4 9)_ 36

Extra Syllabus

04. aA - bB RiFaiita crm Fb Ritram g9 Fo @2

() — (b) —2241 (0 -4 (d) — 244
TR (b); R Ra = — 2 = +252
1. i afTe gt Fiea #fem F9= 99 @F 47 R w672
(a) Tteief (b) &AfSF#T OERLE (d) ==
TYI: (a); @IS OfFe arar Afaesics [RiEFan: K,Cr, 0, + 4H,50, — K,S0, + Cr,(S04); + 4H,0 + 3[0]
T S(HGH SIS I THEMS VE |

15, om Rferet 2o FEER AiNge waTs -
(i) C(s) +§Oz(g) - CO(g) AH = —111kJ/mol
(i) CO(g) +502(g) — CO,(g) AH = —283 kj/mol

(a) 173 k] /mol (b) —394 k] /mol (c) 373 k] /mol (d) 394 k] /mol
TAYE: (b); RfEFw (1) @ (i) @ 3@, C(s) + 0,(g) — CO,(g), AH = (—111) + (—283) = —394 k] /mol
ferfo ¢ wa wem Rferan sz, AH TR FEe™ 7z 91

sifere: MCQ (15 X 1 = 15)

Short Syllabus

01. 2x=y?+ 8y + 22 *IJCET A< FF TS~
(a) (3,—4) (b) (—3,4) (c) (-=3,-4) (d) (34)
A (a); 2x=y? +8y+22 =2 y2+8y+ 16 =2x—6= (y+4)2 = 2(x—3) ~ (3,—4)
02. lim—X qg v Z3-

;.:—p[} sin? 2x
(2) 5 () < ©) 5 (d) 1
! (b); lim 2T L i X [L'Hﬁpital's rule]

x—0 smzz:{ x—+0 ZJ{ZEInExtDSZx

_ 1. _ sinx 1
T4 (!:l-!.]?] X . sin 2x 2) (Kl_l'.la cos2 = X X 1=
03. [’|x—1]dx=?
(a) 0 (b) 1 @2 (d) 5

TR (b); J, Ix— 1] dx

G- dx+ [A(x- 1>dx——[——] +[E-x = - f-1-0] +[(E-2) - (¢~ 1)]

-]+ - (-] =5+t-
E— ) - )




o S A R00-W

05. -d— (cnsz(ln x)) =?
( a)— SIH{ZIM) (b) —2=e=tax) (c) — Sin@2Inx) (d) — 2xcos(Inx) sin(lnx)
X

X

RRILIEE (c); -d—i- (cos?(Inx)) = 2 cos(Inx) (—sin(In x))i =—
07. cosec®+ cot® =+/3(0 < 8 < 1) (T Y7 T I3-
@3 ®) 3 © ] @ X
AY: (b); cosec ® +cot® =+/3 (0 <6 < )
(a)1+0=1:(b)4-+f-—#—h— 3; (OV2+1; (d)2++3
08. aM A, B, C Wik foAia SiF@ auaty 4 x 5,5 x 4 9924 X 2 29, 94 (AT + B)C miiwba st 62
(a) 4 % 2 (b)5 % 4 (©)2x5 (d)5x 2
AL (d); AQT T4 X5~ AT @A &FT5x 4, BAIFT5 X 4, (AT + B) a3 &N 5 X 4,
COa@FT4x2 » (AT+B)C &N =(5%x4).(4x2)=5x%2
09. CoIFIR ZHITSF r° — 2rsin B = 3 G Jra T | JaoF (PG 2I-
(a) 2 (b) 3 (©4 (d)6
TAY: (2); 1° — 2rsinB =3 = x2 +y2—2y—3=0. g=0,f=—1,c= -3
s r=ygt+fi-c=0+1-(-3)=2
10. 3N '8 2N Wit 720 I 1 R 1 e qeema W et a0 wAfea W6 faect 201 TR0 NLRO! (i A
m..
(a) 30° (b) 120° (c) 65° (d) 45°
A (b); R2 =32+ 22 +2x 3% 2cosa =13 + 12cosa
(2R)* =6%+224+2Xx 6 X 2cosa =40+ 24cosa =4 % (13 + 12 cosa) = 40 + 24 cos «
= 52+ 48cosa = 40 + 24 cosa = 24cosa = —12 3 cosa = —> = a = 120°

1. 2uwﬁﬁﬂﬂaﬂwﬁawweﬁwwwmm
(ﬂ)— (]J) (c) —smu (d) :—;cusu

4u® 2u?

TNYE: (b); 02=(2u)2—2gH=>H=-z—g-=—-g-

12. Ty = kx (2x + V3) IFEIUL TARHOS 10 x-SCFT AN 30° 1 TR 03 G120 k-7 T 204-
(8) 3 (b) V3 (©) % (d) 2
ARLYI: (a),y—kx(23+\f_)—2kx2+\/_l{x= - = 4kx + V3k

o — _ 12__1
TARTS, & = 4k x 0 +V3k = V3k + ¥ = 3k = tan30 ==k=(%) =3

13. x= acusEl + bsinB,y = asinf- hcnsﬂﬁww
(a) ellipse (b) parabola (c) circle (d) hyperbola
A (¢); x =acosO +bsinB ; y=asin® —bcoso
x% +y? = (acos 8 +bsinB)2 + (asin 8 — b cos 8)?
= a® cos® 0 + b%sin? 8 + a? sin% B + b? cos? 0 + 2ab sin 8 cos 8 — 2ab sin O cos @
= a?(sin? 8 + cos? ) + b2(sin? 6 + cos? 0) = a% + b?
= x* +y% = a? +b? - x2 +y? -(\faz+b2)z-—;circle
4. x*-2x +1 = 0 (NPT TTer a9 «F JE -
(a) =3 (b) 3 (c) —2 (d) 2
AHA: (d);x* —2x+1=0 =2 x—-1)2=0=2>x=11~a*+p3=13413=2

LN / »

2sin(Inx) cos(inx) _ — sin(2Inx)
X X
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04. TS =a WA Fiveel 331 @ forbros @R M ANSTE TSR F972
(a) 35 (®) 3 © 5z (@) 55
Y (d); T2 1 A 6 215 T S|
. G A&y et = (6 X 6 X 6) &
-, Fifes Fege = 6 6 (111, 222, 333, 444, 555, 666)

__6 _1
T 6X6X6 36
06. f(x) =3 — VX — 2 S0 COITH F67?
(@)x =3 (b) x = 2 (©)2<x<11 (d)2<x<3

FAGE: (¢); f(x) = V3 —Vx—2 ; 47, P = Vx — 2
CEAGIEHN. x—2>0=2%x> 2

URE,3-p=20;p<3; Vx—2<3=>x<11 =~ Domaim:2<x<11

15, (1+4x)7(1—x)® 971 {fere x7 7 7t =-
(a) 15 (b) 25 (c) 30 (d) 35
TAYE: (d); (14+%)7(1—x)8 = (1 —x)(1—x3) = (1 =x)(1 — 7c;x? + 7Cox* — 7Cax® + .onnnn

wx’ @@= 'C3 =35
Gief<eq: MCQ (15 x 1 = 15)
Short Syllabus

01. (7S &y AfH BT G SIPIe ZLel-

(a)3:1 (b)2:1 (c)13:3 I(r.l)9:'?
AL (d);
Sy SEI\C
STy bl 515
ANAFOS Sk
feritet f&w )
AP0 QPRI 31

02. 53 GIRTS FRETIC I 2Mew JH? |

(a) Pinus (b) Cycas (c) Hibiscus (d) Ficus

FAY: (b); Nostoc, Anabaena NS SHTAIIHIFLG ! QI SeHS (ST TCO! (AIATO A3, 206% IS T4 |
05. ofera =i Feired Il i Lietete fa sifde?

(a) o - ot ~ro= (b) FEu-=SI > FPreeit- sjefrr sro
(c) =S ro% (d) T AT =AST-5)¢fror ro%

ANIYE: (b); WW CFas oy - i - “ﬁﬁf 2 (egg-nymph-adult) |

i il e ot - F Foras

=3 -."

/A I

- . .;i' I\' F
il o i -|l'Il G, SRR el




06.

07.

08.

09.

10.

11.

13.

14,

13.

03.

04.

12.

Bz

;/ E / £ T 3 FNEE: R00-WD
/ L — /
TFATALE C54 (14 (TS ANEq Ta?

(a) SILTT*ITH (b) IFTS (c) TET=H (d) s
FAAG: (¢); COTETT: @ (19 (AF ey g @18 S0 [ WETSE CONIE (U0F FILTHT TSI AT
ez

AFATER SO SIE SRS AR F67?
(a) 8 & (b) 5 (c)afe (d) 3

THI: (b); TEd S0 oft, T 32 B, TH0era o, CRTTIT S0 IR P 36 sriw AT
571751 Ffor (eaifvi =1 57

(a) Loa loa (b) Fasciola hepatica

(c) Ascaris lumbricoides (d) None of them

AAL: (b); (51 FfaI- Loa loa ; C511F F- Ascaris lumbricoides

MG (069 (i <tz tafizg?

(a) Arthropoda (b) Mollusca (c) Annelida (d) Echinodermata

LI (b); Mollusca At4a 2iifeftaa (rz TjT%e e S<9e 714l A |
(I greeiame aw e T FiteET AnE?

(a) Spirillum minus (b) Vibrio cholerae

(¢) Pseudomonas fluorescens (d) Bacillus subtilis

STIYI: (b); Spirilum minus Q3 '»f?t,fa 3R Pseudomonas fluorescens G QTR FIITSEN YITF |

SfEtia QI St {2 @oa wed? [Ans: a]
(a) G (b) TG (c) TBIGE (d) IO

@I (ICAD A SR AT = =tz =17

(a) CCU (b) ACU (c) UGA (d) AAG

TMYE: (¢); UAA, UGA 8 UAG &It wnifae afss ot s =

CRTTFG-> 7 (I T Fraret 2 z?

(a) TLo0IoA (b) SRTAOR (c) *mTioa (d) ferefoa

HAIYI; (c); CTLBIBR YT ARG AR, TRTHIOA Yo ARSI, “prizfio «iwel TR 3 e
8 GIFSIRERRT 4Tt ARBTTAS |

VAAACE, S A Fro1[qE pH F97

(a) 7.0 (b) 7.4 (c) 7.6 (d) 7.8
SAIYE: (b); IS FSIET pH 7.35-7.45 (91T 7.4)

Extra Syllabus

TETRRR e A ? [Ans: b]
(a) Tectona grandis (b) Barringtonia acutangula

(c) Shorea robusta (d) Cassia fistula

fAtea 1 =I5 TFa oem T eifEe =7

(a) IgG (b) IgA (c) IgM (d) IgE

AIYE: (b); IgA JFE IER WY W2 IgG SR W Mo a9ifEs 7
frees (Fmibre WiFRe w3 EOIEIFFS <tvsat aa?

[Ans: b]

(a) Escherichia (b) Nostoc (c) Zygnema (d) Chlorella

Ly s Mo
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qiee: MCQ (15 x 1 = 15)

01, foumafam - TR @I A FH T2 [Ans: b
(2) 237 IFoR @ (AT (D) TIFPRER AT () WLHIPB AT (d) IRt A=

02. SAECNE ® (At e wrer ST =& IE? [Ans: d]
(2) TRES! TCf (b) ST TIE ol () Reeaa wee! (CVERITERIS)

03. 53 *itzra fRoidte 1%t 2=i- [Ans: a]
(a) oY (b) Gl (c) T3] (d) 5=

04. I CCAT ARNSAN® @I Feyord 7eet wifdw Jfad I T Nort swees? [Ans: b]
(a) ST (b) =il (c) SPTee! (d) SreEet

05. &I o SHeTNa Woo, e 947 fi Tons siheai gm? [Ans: d]
(a) TR (b) & (c) T (d) &=

06. I =T i A1 7, (ISITET RIT BTy qCeiced, S SiEl f55a 3frs; @ 92 [Ans: b]
(a) RTBAITANY (b) &S (c) Ly eTot ORITEN

07. A AQFie =< w9? [Ans: b]
(a) SI=T# (b) SETCIE (c) Semifa (d) ST

08. TIOR3 1% I 7t (@, Ot T - [Ans: c]
(2) ST (b) SIfFoeR () SRR (d) SIFTSISH

09. FTEa (1 B “RFraa Faieins Swizaa? [Ans: b]
(a) IR (b) TR (c) IR (d) FTC=T

10. q—gﬁmwmwww (I ST=R? [Ans: d]
() @&, sgarer (b) TATHAL, YA (c) TSI, I8 (d) TEmrEe, e

11. @0 St ? [Ans: ¢]
(a) 9FF (b) UG (c) uFfae (d) 9T

12, GG A FRTOR TN’ — QA Fiee-eie [eim e == - [Ans: c]
(2) fAfrad qift (b) FTT WS (c) fAfraied uBr (d) ST qFt

13. s ey goem $Rfbw wrot crem o 21 — i 39 T2 [Ans: b]
(a) (R2H I (b) Se{fafoer (c) TGS [FCraba  (d) 5/ TF

14. eoe IR IR 57 791 e witg? [Ans: b]
(a) SR (b) % &7 (c) feareT &fS ramm (d) el

15.  “TINRMY FOH SradFe @TAas 92 [Ans: b]
(a) 9T AT (b) ARG S TARTFRR (o< @ ©rgt
(c) «f Reaig (d) SfeTTT Wft 3=

English: MCQ (15 X 1 = 15)

Fill in the blank with the most appropriate option. (Question 1-8)

01. ......... his alert and vigilant presence, all predatory animals were said to have been kept within bounds. [Ans: d]
(a) Hence (b) However (c) in addition to (d) Because of

02. Complete the following sentence using the most suitable options given below: “If I had a car, ........... 7 [Ans: d]
(a) I took you to a long drive (b) I would have been taken you to a long drive
(c) I would have taken you to a long drive. (d) I would take you to a long drive

7 » [ /8
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03. Complete the sentence with the most appropriate option below. “The organization helps ...... elderly.” [Ans: a]
(a) the (b) an (c)a (d) not article

04, Doyouget....... well........... your sister? [Ans: b]
(a) by, to (b) on, with (c) into, with (d) in, to

05. Don’t make so much noise, Shibli....... to study for his admission test! [Ans: d]
(a) try (b) tries (c) tried (d) is trying

06. Would you mind...... .... a cup of coffee with me? [Ans: c]
(a) drink (b) having to drink (c) having (d) to drink

07. Bangladeshis .............. huge inland open water resources. [Ans: d]
(a) equipped with (b) submerged by (c) blessed by (d) blessed with

08. By this time next year, I ......... all my exams. [Ans: c]
(a) will taken (b) have taken (c) will have taken (d) took

09. The synonym of ‘incompatible’ is- [Ans: c]
(a) disqualified (b) incomprehensible  (c) unsuitable (d) incompetent

10. Ifyou are skeptical you are- [Ans: d]
(a) credulous (b) villainous (c) philosophical (d) doubtful

11. Change the voice of this sentence: “He does not like people laughing at him” [Ans: d]

(a) People laughing at him are not liked by him.

(b) He does not like being laughed at,

(c) To be laughed at by people are not like by him
(d) He does not like him being laughed at by people

12. The noun of ‘bore’ 1s- [Ans: d]
(a) boring (b) bores (c) bored (d) boredom

13. Whose book is that? [Ans: c]
(a) It’s of Mita’s. (b) It’s Mitas’. (c) It’s Mita’s. (d) Its Mita’s.

14. The antonym of ‘malign’ is- [Ans: c]
(a) hostile (b) had (c) benign (d) harmful

15. Choose the correctly spelled word- [Ans: ]
(a) Synonymus (b) Hippopotamous (c) Hypocrisy (d) Antonymus

Short Syllabus

01, GG AIFIZCTA TR TG I&F 2t v (@0 T FACR | NI BIFT @R AT I S 768 wim
s = 0,50 | TR Bo fFaIae Iepnred A% ford 1 I @9t v = 10 m/s T¥, O TE AN F© JIIda J@eia

T AR TNt FACS AAI? 2.5
AY: TR 8o Faae ez (i) T84 39 (i) ©o17 efSferat 3971 @ity 959 <@t emyd 39 R
IS LA

44, SRR ARER S = m
2 102

2 2
NS, Fr = ﬂ;'f- = W (mg) = % =>r= -;E =TI = g0—sos T = 20.4m (Ans.)

RN / > /




03.

04.

02.

1 1
v u

/ ! /; V/ o8 ERIE: R030-3)

b

foraa <657 4. 0 Q @itya 2ieEa Wy feq e 3o 23? 1.5+1.0=2.5

2/3€2 %ﬂl

—ww—|_ww_|—

40

N _L
_{ ——

olt
AMYA: Roy = =4+ (271 +4 )10 =24+20 =20
tteq T g B

[ = — —zam =1 am
" Req 2 P= P

R, =(271+471)0=20

Vio = IR, = 1 X gvnlt = 1.333 volt (Ans.)

GF I e Ty = 900 K G Ty, = 300 K Sl sy Fidaw | 2R afS 5t 0. 25s F=wx 1200 J
I | T ST 49 (S I G T qF S awmieda (de o siieE) w6k Iw @@
4| 2.5
TAYI: &S BieF Fig F, W = 1200 ]

T ST {17 AT S O = Qy

3 SiviaE ©f dizee Ifere o = Q.

W =Qy—0Qy ~ QL = Qyq — 1200

T_H _ % 900 Qy abee i
T, QL = 300 Qy—1200 = 3Qu — 3600 =Qq

% Qy =1800] ~ AS =2 = 280 1g-1 . AS = 2K~ (Ans.)

Ty 900
Extra Syllabus

4B TG (FSTR (FIFH TAG 10 em | GTCH T A 30 e T Gf6 7§ 7041 == 2AfSfR{oms w<giw, oo
¢ feadw fMfa < 1.0+1.0+0.5=2.5
TR G, @ 77, £ = 10 cm

(T (AT IFAEY, u = 30cm

ﬁ’ﬁﬁﬂﬁﬁﬁﬁﬁ% v =7

1,1 1 . _
£ =~ —=—:v=15cm (Ans.)

vV 9 TI9 4G 0T {99 BT @ TTE61 (Ans.)

15
*—'ﬁ = —(.5 (AIIS.)

N/




Y S ANNIA: R00-W

Short Syllabus
0.5+1.0=1.5

05. (F) ATHS TH F1? Fifer wore Tl GR I F I71 [AIH?
(4) &S, CTeiE ¢ SR Wi Frold SEmt T4 I[? 1.0

HAY: (F) ITRAE 5
AT TE A “AFAPTLRE 4T 20T O 8 &7 Sl cE T ST sy fRER shiem et

w4 G RCTRGH [RAPT 1S B0 &Y 5167 |
GRS E GE RIS IS
*
-*PC\/C%-
H-C C LI'J—H
| T
H H
5 [ et @ 2 959

T R oI I = 19 6, AR I 516

(<) @ (1°), cFeif (2°) © SRl (3°) sutensizrem Aar:

o ez # & v HCl «fite udige oty Gie @RIRees aaite o [{e[e 0| 375 Siian
T[T AP ST 3° SERIZE G 4T TI@2 VT STTH (T | 2° SHECPIRE 5-10 WG S4sF () 1°
IECRIEE T SEE RiER 03 1 Tee T WY 7A9H e (S9E I T I

(CH3):C — OH(D) N HCICD ZnCl, (CH3)3C — Cl(s) + H,0(1)
tert-[ACB1Re SIATHIZET (3°) 25°C tert-IGB1RE (HIFIRE
(CH5),CH — OH(l) / _— ZnCl, (CH3),CH — CI(s) 4+ H,0(D)
is0-CAAZ STECIEE (2°) 25 iso-Celi?{I3% (FIaI3e
CH,CH, — OH(I) . HO(D Eﬂz} CH,CH,, — CI(s) + H,0(])
3R I (1°) WA FRIRT
06. SE<BIE F1? A6t d-=REItea 7 o 93 tas R-Tifa<s oa o5+ 991 ofte digFo! 2 JEAFRT AT
YT LAY AT W7 0.5+1.5+0.5=2.5

T A6 Mo Mt @ 9a s SiReTE © Ame =ifETe g CIees S={EIER T3 _A! 90-
95% A AUTF, ZERGA (NH (T GFIFIS A0 401 =7 |
ABG d-SRARBIE: dyy, dyy, Aux, dyz_y2, g2

Wﬂﬁl@mﬂﬂﬁﬂwmmﬂﬁﬂﬁﬁquzm@waﬁmmq@mqqr

G ANGE S s Tre @ Afid =i e =)
BfYe WiTgFe! ZCAt @IA! TIE Qeid Sore 7fo o7 Aewidq ey craege JrEGa LS G A

e e g9 319 w0l |
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oY 3 AAHIN: R00=-R0

KOH D
07. @) )X —By %y

(ii) Z + 2,4 — DNPH - Yellow precipitate
(iii) Z + Fehiling solution - No change
(iv) X is the isomer of C;HqBr

TR SURTE! T I3 O SR X, Y 92 Z 97 ipfRs e fAda 391 1.5
() TR Ty € ©fe=E [(i) Fe?* (aq)/Fe(s) = —0.44V @32 (ii) Cu?*(aq)/Cu(s) = 0.34V] QT I,
ofYe FEDT fow oEw $9 93 IR emf RT3 1
AATYH: (F)
. KOH(aq)
(l) CH3 —_ CHE — ?H - CH3 > CHE —_ CHZ — ?H - CH3
Br OH
0
[0] |
OH
0 NO, C{Is. NO;
(ii) CHz — CH, — C— CH3 + NI-I;—NH—2§)>—I~nr:}2 — /{; =N-NH —@—Noz(ﬂ) +Hy0
CH; -CH, (T WYETF)
i
(iii) CH3CH, — C — CH; + (2o w34 > No change
'y Xﬂ.’?ﬁ CHECHE(]:H CH3
Br
=Y T CH3CH,CH(OH)CH,

0
[
* Z A CH3CH, — C — CHa
(<)

FeSOy(aq) CuSO4(aq)

fom: ©fds T
(F1E0d emf = EHFE;‘FE“ + EﬂCuz"'fCu = —(—0.44) + 0.34 = 40.78V
08. MR «fes wdm gvds Rued g ordte @R @7 K, Tewifie 91 @1 4tS, pK, = pH 2,
ATAGAT TR AATAZ T T 0.5+1.0+1.0=2.5
TAH: AP {eaie: CH;COOH(aq) = CH;C00™(aq) + H*(aq)

= [H'IXICH;C007] e rrviy 1= Y [P
a [CH;COOH] “ , [H*] = [CH3C007] = [CH3COOH]  [CH,COOH]
_ [Salt] [CH3C00"]
¥ 899, pH = pK, + log Acid] pK, + log (CH,COOR]
[Sﬂlt] _ EEH;CEU_]  _

PH = pk, (T 33 [Salt] = [Acid] 41, [Acid] L= [CH3COOH] 1
~pH = pK, +log(1) = pK,; + 0 = pK, (Ans.)
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10.

11.

12.

/ Y 3 AHIHH: R00-W
(f%—lﬁl—) 10
Short Syllabus

X3 — 3% 4+ 7x — 5 = 0 AT G 1 (1 + 21) T O Faeren 2.5
STAIYI: X3 — 3x2 4+ 7x — 5 = 0 FRFACI 46 T 1 + 2i R0 S#47 G 7 1 — 21 |

g D T, o+ (L+2i) + (1—2) =3=a+2=3.a=1 ~FOPTAGRL 1~2i8 |

y =x% g3 x = y? o RA<E CFad CFage M 9 2.5
Ty = x2... (0); x=y?...(i)

Hax=y?* @R, y=y* =2y -1)=0-y=0,1

A0S, y=0E@Ex=0; y=1Tax=1

1
omagE = [1(—x? +xV)dx = [+ 2x%2] =-142=lafaww

dh8 (@, tan"1x + tan~ly = tan™1 :j:; 2.5
ELIRICE ﬂﬁ, tanA =x ~ A =tan"1x @3¢ tanB = ysB= tan~1 y

i __ tanA+tanB _ Xt -1 Xty

~tan(A+B) = rTeyTe—hry— ; A+ B =tan v

stan~ix+ tan‘ly = tan~1 2% (CTYITHT T9)

1-xy
Extra Syllabus

5x1 +10x, < 50,x1+x, =2 1,X, <4,x, 2 0,x3 2 0 =S FAATF 2X4 + 7X, UF NS N [FEFF1 2.5
TAAHI: 5%; + 10%, < 50 = X, + 2x, < 10...(1)
X; + %, = 1....(ii)

< 4....(iii)

Xy 20, X, 20....(iv)
L= 2:{1""7}{2

0,1) qa9S[Z=7
(1,0) I ST Z =2
(0,4) YT & Z =28
(10, 0) 9IS Z = 20
(2, 4) TG Z =32
f 2 GFARY A =2
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Short Syllabus

13. DNA &if$fEom gere J 9a? DNA &fSRata s eI 5140 SoigFaeda i foag 0.5+2.0=2.5
Y DNA effSfo/9: DNA IS 799 DNA 99 B2 $419 a1t DNA alfsfes 3t

DNA &fSfeatae &0 araiaaiy SAFa:

(i) 3o =b

(i) SRy FASfPCaitI2e GiZ%oTes (dATP, dGTP, dTTP @32 dCTP, d = deoxyribose),

(iii) fASIPTAIBIRTCT T4y I Jfed &) &pd =, T RRFIEE @/ |,

(iv) eFgad g QeI © A @ifta AT @ F6 2 @A FNAH I @I (Replication
complex or replisome), GAGITR &4H G7e127 2 DNA AfF=IES | @ QTN SR Efetae, iR,
ot =57me 313 (it (SSBP), 2w, ufeiREiEs 2@ |

[N:B: DNA &fSf#itaq English version DNA Replication 2871 ©o9)

4| Teax:
BTfEFoM=: RNA sifemiitas; «=eni3s widl DNA @ Feaieas 3% 0@ mRNA FeesRet &S <@t Grstferemi= |
SIS & &g I ATS-
(i) DNA ®RIb (template)
(i) RNA-AfeiEs 9F&i2y 9 foq o™ Tro «iiE)
(iil) Y& ARICIFCAGIZS GIZFHACES (ATP, GTP, CTP ¥3g UTP)
(iv) TS *IfeE, QRFTCTE (S0 NEFRABIZT 932 ARTTAEE JRFIE TF 2| ARTTITS (SrF 52
SN TR0 cofs Fiters fog wfelie i sinear g
(v) T2 == @
14, aFEria Sfeta sites SesforTe A6l =reaiar taf e fore 2.5
AYF: GFAGoAr SRETa FIST TSHO I (I er:
* YIS FOCEN SAES |
o IR [FeHFe THAFS)
*  TRIIGT IR IR FAYFITS CFEAdIaT! By e sifde)
*  SIFER ITE &S Hpre Ritrgsia Toitl
o (WOIEIRC *if¥fE e QIR MBI (Frwd e wafge |

o HREW Y IV AFFORHE |
o OIFEIN IGe Y, AN 8 9% (ST @ G T SHI =3) |

15. Platyhelminthes 992 Nemathelminthes G {50 &4i= 2T forel 2.5
STqIYIA: Platyhelminthes ¥32 Nemathelminthes O %56 24 “fidr:
IGEE] Platyhelminthes Nemathelminthes
MISIEREIL IeB! oI AT T
TS el fosgy-orer sttt w-og Nl
P SITHCAIC ST
CICAET R0 S He TolfFe
ot T SES NS

o
I | - |/
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17.

18.

19.

20.

Extra Syllabus

WIALRA (& (I Sofb FAlib St Jge 7w ford | 2.5
Foig: Soft FoT Fga =iv:
1, SEIa e " SREFE Ay VIL T
VIR Rl Ml B VIIL. S5 3t cSFogre Fafemia Ty
111, SIPCEICAIBS IX. Aeieffeme
IV. 3R I 2l [y X. (S it OGS 31 T =Y
V. BizmEhEE XI. S
VL. SRS XI11. R
Araas 1 (TAEF 51 IHCH): 2.5
12 S (A W2 @7 v
ERIEE GERL ST
S S, i i
citere Rfvw ot =0 712 7 @it |
FA QR > @ T,
I 8 YT O] TrGTe! FLACR SEH,
@ e o7 IR,
(T T A== FI 2ITS iR

Teq: TATIY SITEE RS ‘GFeR’ TR ¢ o ST SPIEDTR Torgs e aif e zrms |
o IR @, R =R Ree [rare fwe @7 306 I@ FEH 1 FEY O IR G- 356 30 (AR

e | SRERETR 18 i O I TAET G712 T2 T SO Lo SR A AT 0T A |
3R (12 TGS AT PO T SHCATF I A |

S TR T (SRS 2[5 ITH): 2.5
Q YT O (\2, (FIAT FT-

q AT & T SFF T

TE: SITET 539 uft FR 9IS SO RIS St I5 ITT NS Fio! (ATF (A ZR0R IR N0 SOl

J%4 IUCT ST 2[0A6F (BT AT T FSq &) TR | &G, 77597, A7 FRAE IR (FE 9 G

A5 T2, Il 8 CTAIFS M @ G O f 5 | @ O O Sifed &1 I 8 ¢ I ST ©itns

VSRS FICSR LT | B2 R Gifod Feieels &y A I @ STt %8 0T @R BT sifod Q1R

741 % Reme wifige =3

Fiqtwera 1345 wradr A A6 T @ 2.5

TER: FIQToR 39 WS ey A6l ey @ zem:

(i) w4 s R ==b e @I A ¢o IR ORF Hor T

(ii) QFCT RO FJafersal e S5ad FNET QY b AT S o 77 97 71 Jrad NG ~AfFFea Iy
(RF AT TR SET ¢o IZ7 S AT Sy AT T TS (IS G0 i oHfdziat

(iii) IS QU TB 03D (AT S FCEFT 0% #IFT TRTOR FITETII AT (I AR

(iv) 74 THIE FCH SR TifSa T 9o 1 S =TT TrAp i Beiees YfEa <de #iffre =z

(v) QY 03 6 (BT AT A Fifoe fww e @ SHPITR {RIRIRTSR 51 4 =
TP =T A AN =% =) 2.5

Twq: Al *{0E #iiofe TNl W= Erefyay, sl e[, Tuest, sEiEm;

/31/




I 3 ANHIA: R0:0=0

English (f5if): 10

21.  Write a short paragraph of 10 sentences on ‘The Dying Buriganga River”’. 2.5
Answer: Springing from the banks of the Buriganga River, Dhaka, the capital of Bangladesh, is a
burgeoning megacity. Already one of the biggest and most densely populated cities in the world, Dhaka
is also among the fastest growing. The teeming metropolis — like so many ancient cities — initially
flourished in large part because of its proximity to a great river; the Buriganga’s countless boats and
launches provided easy access to other parts of this subcontinent, making Dhaka a prime location for
trade. The Buriganga was also, at one time, the city’s primary source of drinking water. Today, the
river is terribly toxic; the Bangladesh government estimates that about 21,000 cubic meters of untreated
industrial sewage is released into its water every day. According to Human Rights Watch, residents in
neighboring slums regularly suffer from fevers, skin diseases, respiratory problems, and diarrhea. The
dire contrast between what the river once was — a literally life-giving force — and what it has become
catching the attention of people who are really concerned about this river. A famous Italian-born
photojournalist Ugo Borga came across Human Rights Watch’s October 2012 report, Toxic Tanneries,
which detail the health and safety crisis among tannery workers in Bangladesh. The report also notes
that tannery wastewater contaminates the Buriganga with animal flesh, sulfuric acid, chromium, and
lead. The photographer then spent two months researching the region before embarking on a 20-day
trip to Bangladesh and as part of a still-ongoing project started in September 2013, “Living on the
Death River”, Borga photographed and interviewed workers and people living near the Buriganga which
chronicled chronicling the human and environmental catastrophe. In his statement about “Living on the
Death River,” Borga quotes Jamil Sharif, the activist and founder of Buriganga River Keeper,
“Buriganga gave life to Dhaka, but Dhaka killed it.”

22. 'What is personification? Give an example of personification. 23
Answer: Personification occurs when human attributes are given to non-human.

Example:
The ocean sang a mesmerizing song.

This example uses personification to provide sensory language for the sound the ocean makes. The ocean cannot
literally sing as a human can. Therefore, the phrase is figurative and the ocean is personified.

23.  “Ilove to rise in a summer morn,

When the birds sing on every tree;

The distant huntsman winds his hom,

O what sweet company!”

Which poem are these lines taken from? Who wrote this poem? What is the tone of the poem? 2.5
Answer: These lines are taken from ‘The School Boy’, one of William Blake’s most famous poems.

The tone of the poem “The School Boy’, is of ‘innocence’. It seems that through this poem the poet wants to covey
an mnocent desire of a school-going boy who hates going to school in a “disciplined way” and rather desires to be
free like the birds. For him, the school is just like a prison which does not allow the creativity of a person to flourish.

24.  Write 10 sentences on how to minimize the chances of getting infected by Corona Virus. 2.5
Answer: (a) We should get Vaccinated
(b) We should wear a mask
(c) We should maintain social distance
(d) We should stay 6 feet away from others
(e) We should avoid crowds and poorly ventilated space
(f) We should wash our hands often |
(g) If soap and water are not readily available, we should use a hand sanitizer that contains at least 60% alcohol.

We should cover all surfaces of your hands and rub them together until they feel dry.
(h) We should avoid touching our eyes, nose, and mouth with unwashed hands.
(1) We should cover coughs and sneezes
(J) We should, check our body temperature regularly




